Exponential Functions - Differentiation and Integration
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Directions: For questions 1 through 3, find the derivative.
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Directions: For question 4, use implicit differentiation to find %
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Directions: For questions 5 through 9, evaluate the definite integral.
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Directions: For question 10, find the extrema and points of inflection.

[EnN

10. f (x)=——e 2

2
Flxl= L. C’:%- —aAx
Jat a
Fl)==2_¢
T e ™
-x=0 \Exhcm (0“_\4-%‘.\ ]
X=0
()= —
\ g

-F"{x):_L.. [‘“\'C.-}z""—?‘-c,.%-'lx ]

FuUx)= x ~|
am e
x5-1=0
X =
= " L
V= L . L L =
§() me Jam Je  Jame

—






